log10(TPM+1)

TTIIITTER

v A I.HIII

W

H3K4me3

ITITIITIIY
- ==

H3K9ac

eooe900iiall [beoddiliialy [poossiddizaz (LLLLLLLLintd (E300230033ad

H3K36me3 H4K20mel

H3K27me3

H3K9me3

—
—
—=
—_—

L —
e e —
—— |
e =
i ——
o —

— =

e m— |

e ——

_— e ——

—_— ——
— |

—_— ==

— 1

= = = -
E—
"

: E

=
= EBE=
— —
= e
I
| —
=

|

WL

—_—

- —
e _—— o
_‘
—__

— — —

_a
= —=
— =
m——
=l

FFTTITITLL.

= -  EE— —— el
T A T T T T LT T L e T P P R T PR T 2T T

A

I
|

I

1!

L

L

d

i.l

|

groups
[ downregulation
B upregulation
log10(TPM+1)
15
10
5
ms 0
H3K4me3
=8
6
4
2
H3K9ac

_K
4

2
- )
H3K36me3
I 0.8

0.6

0.4

0.2
S0

H4K20mel
2

1.5

1

0.5
=0
H3K27me3

B
2

1
o
H3K9me3
08
0.6
0.4

0.2
4e 0




